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2A: 3 H D
I kel (YetsI N /UBEN)
el Hlefec (Crel: &)
2A - EH - O2(3) - NRAY - BAS 0] bt J| & o HIDE2
3| H 9,519,402 3,791,102 5,728,300
Hetze|(LetE ST/ UBtEiE) 1,938,292 1,782,792 155,500
Hetrzte| 1,938,292 1,782,792 155,500
=32l 411,080 326,580 84,500
405 KHAHE S| 411,080 326,580 84,500
01 AL =SS FHSHI 411,080 326,580 84,500
OtltieEzz g 2 13,000 10,000 3,000
—OtSEAEIN(FHLAEHSEHA)
3,000,000&*1CH 3.000 0 3,000
OFEX=APD| 2 85,000 57,500 27,500
—XRZHEN OHE & A
7,500,000& *1CH 7,500 0 7,500
—Oot& 1t 20,000,0002%1CH 20,000 0 20,000
OEAM AIRE ==&D| WAl 110,000 80,000 30,000
—ZHAE A 40,000,000 40,000 31,500 8,500
— O Xt 2 25,000,0002 25,000 20,000 5,000
—IHHIA 2 12,600,0002 12,600 8,100 4,500
—IIEl&E S JIEF AIRE &I
28 32,400,000 32,400 20,400 12,000
OARI2sE 32a&8 I+ F 24,000 0 24,000
—&X 300,000 *402¢ 12,000 0 12,000
—O X%t 150, 00021 *802+ 12,000 0 12,000
xtetate] 1,465,187 1,3%4,187 71,000
405 KHAHE S| 1,157,400 1,086,400 71,000
01 XL =SS FHSHI 1,157,400 1,086,400 71,000
Oxtgr 7¢ 1,157,400 1,086,400 71,000
—Oid 2 617,000 546,000 71,000
SISE(ALD
Z & 52,000,000 52,000 26,000 26,000
M| SEH(=SHA)
45,000,000 1CH 45,000 0 45,000
THat2e| (LetE DS /UBIEiE ) 7,327,506 1,754,706 5,572,800
FArzte| 7,300,006 1,727,206 5,572,800
232ze| 1,180,406 1,158,406 22,000
401 Al&HIZL 20| 114,000 92,000 22,000
01 Al&H| 114,000 92,000 22,000
OBAA SESA HBIEES
22,000,000 * 1Al 22,000 0 22,000
SHSE A2 6,070,800 520,000 5,550,800
401 Al&HIZL200Y| 6,070,800 520,000 5,550,800
01 Al&Hl 5,513,000 520,000 4,993,000
Ohat HHSTIHIE HES A
1,481,000,0002*1A! 1,481,000 0 1,481,000
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THAIRIE| (BB BT /B N)

A2

SH - BB CR(E) - HIRAY - BES Ofl ko Jl 3 o Hns2
OFA1s HE=SKIHEH HESA
1,414,000,000 %1 A! 1,414,000 1,414,000
Os&2s HESKHE BEFHE THESAL
970,000,000 %1 A! 970,000 970,000
OJtgs HESKHE SEFUHE TEBAL
1,128,000, 0002 %1 A! 1,128,000 1,128,000
02 Zeldl 547,000 547,000
Ot HESTIME HEISAL
304,000,000 1Al 304,000 304,000
OFA1s HE=SKIHEH HESA
243,000,000 *1A! 243,000 243,000
03 AIESCHYI 10,800 10,800
SHAtY HE=X|ME HES A
6,600,000 14 6,600 6,600
OFA1s HE=SKIHEH HESA
4,200,000 =14 4,200 4,200




